Sped o lgld oot bveriad: oy ,QM
W= x® X/lzx” LEIT
A Y = px’ ;‘4 %0

T vl ety
T-rewlj(avzvu\d,(‘;ﬂ\g whiol g avt
UMY 2 0] e vied

TV A®) —igh(z )] /i xo
(x") ) (igktg) oﬁlg) (x‘)
2 il —ixtoht
x" = oxtehE 4w ok
Meawim® dé T Toiwm % =01
Pt = %! gkt
x! = %o ALY = [llxd

=% € calld aidy



q S

(x‘”)q ) Cixw)l = LX“)Z“ Cxld/ @
:-Lx")ﬁoffg +1x%§ skt — LXH(LSL%?
+ (%) oh's - u"%ﬁc’«‘i + (X‘)Q"/L?/F&

= : 2
v (JXI,‘Z___ an)l — (,X) 'f"C[XC?)-
, .

X

Elie whuy Lk
. > xx?

[sput iy )
et

MivKowsk; Cpa s

A LY |

LA INL IR S SN
\//’l SR G \/lC/L\i .

Ty ant Ly Bt '7'_"/ 2 B X/;\/';

— %" ShE £ xlel® = —osiy + oy
(47-yo)sky = (v'- x') ck¥



o7 <

(Yo~ xv) ﬁh% Tiaw ik
{.UVLL\\ Luww/( A \340\0\/4\4/( t"ﬂ‘)‘

’0 (0

Traglanskin ¥0 2 1 gl X =

X7 bt - Xl9{1§ = \/”o[\E -—\/|JL1§
(¥7- %) ebe = (y'=xVchE
, C.\/0'~xd)

(4 X'JJ = l f[«§° / £ | Q(%LL—ZIW,

e




